Early Morning Maths

Pimperne CEVC

Primary School
Prvnary School Early Morning Maths (EMM) starts part way through Year 1 and builds up through the year -
groups. Its aim is to provide consolidation opportunities, to allow concepts and information to ﬂ
= move into long term memory and to create opportunities for pre-teaching. \/

Example of Year 1 Early Morning Maths

Example of Year 1 questions
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2)  What is the shape?

4) Wprite the numeral for seven.




Example of Year 2 Early Morning Maths
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1)  What temperature is shown?

ML —
=

2) Thereare | litres of juice.| i=
4L—
=
R

3) Wprite the heights in order from shortest to
1'“”351"[ 91 cm J [ 70 cm ] 88 cm ]

4) How many sides does
this shape have?




Example of Year 3 Early Morning Maths

SILENCE
Solve the calculations by counting back from

Use an inverse calculation to check

¢ Early Morning Maths

the larger number, { the calculations, ——?
14+3-17
[ 63-5= ] [ =i) 672
__v 335
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| 55-27=28 |
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= 3x3=

Show your working out in your book. Calculate.

Tyler has 28 cakes. He brings half

of them to school.

How many cakes did he bring?
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The whole is

One half of is

867

338
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SILENCE

584
326
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Example of Year 4 Early Morning Maths

13.1.25

Write a subtraction to check the answel

3,518 + 783 = 4,30l
Find the difference between 5438 and I,949
Round 923 to the nearest thousand.

Use <, > or = to compare.

| metre Q 79 em 4+ 25 em

Calculate the perimeter of the shape.
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Use digit cards | to 5 to complete the comparisons:

564 | < [ |73 |

238 > 235

You can only use each digit once.

|23 4] 5



Example of Year 5 Early Morning Maths

Early Morning Maths - 30.1.23 Problem solving:

1. 3bx21=
2. Here is a number written in Roman

Write down three factors of 28
that are not factors of 20.

numerals. Write the number in
figures.

CXXIV

3.7 +1.015
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Example of Year 6 Early Morning Maths

Example of Year 6 (plus teacher questions on board and a workbook)
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Fluency Problem Solving = i e
Complete these questions. A shop has blackcurrant juice, = —l l:\
orange juice and strawberry juice = e —
1. 4924 - 1000 = bottles in a ratio of 5: 5 : 3. If : e
there are 1025 orange juice T
bottles, then how many juice (O =i
2":' 0.04 +10 bottles in total are there? S
3. 82+ 1% —
Reasoning
4, %4- 3= George says, “40 x 6 = 60 x 4."
Is he correct?
5. 74 x 42 = Explain your reasoning.

6. & x3 -




